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Annual Assessment - March 2017 
Mathematics 

Class-6 
_____________________________________________________________________________ 
Maximum Marks: 80         Time: 150 Minutes 
________________________________________________________________________________________________________________________________________________________________________________________________________________________ 

Instructions: 

 All questions are compulsory. 

 Marks are given in front of each question. 
1. Choose the smallest number from given options.      1 

(a) (1+2)   (b) (1-2)  (c) (-1-2)   (d) (2-1) 
2. Covered surface of a closed figure is known as _______________.    1 

(a) length  (b) volume   (c) perimeter (d) area     
3. A right bisector of a line segment divides the line in ________ equal parts.  1 

(a) 4  (b) 3      (c) 2   (d) 1  
4. Which of the following is an acute angle?        1 

(a) 110°  (b) 180°  (c) 90°  (d) 60°   
5. Select correct friction for the shaded part of the given figure from the options.  1 

                                           

(a) 
 

 
   (b) 

 

 
    (c) 

 

 
    (d)  

 

 
    

6. What is the perimeter of a given figure?         1 

          
(a) 14 cm3 (b) 14 cm2  (c) 14 cm  (d) 14 cm5 

7. Which of the following is an equation?        1 
(a) x+20 = 70 (b) x+20 < 70 (c) x+20 > 70 (d) x/20 < 70 

8. Which of the following is a smallest natural number?      1 
(a)  0  (b) -1   (c) 1      (d)  2 

9. The sum of 5 and -6 is:          1 
(a) 1  (b) -1   (c) 11   (d) -11 

10.  If = 10 child then,    = ________ child.      1 
(a) 25  (b) 20   (c) 30   (d) 35  
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11.  In Geometry Box, which tools have a pair of pointers?     1 
(a) Compass (b) Eraser  (c) Divider  (d) Pencil 

12.  How many ten thousand are in one lakh?       1 

(a) 1  (b) 10   (c) 100   (d) 5  
13.  The tenth place number of 0.375 is :         1 

(a) 0  (b) 3   (c) 7    (d) 5 
14.  5 added to Y can be written as:         1 

(a) 5Y  (b) Y5   (c) Y+5  (d) Y-5 
15.  If, 5: 10 :: ______ : 40 then  ____    is equal to:       1 

(a) 5  (b) 10   (c) 15     (d) 20 
16.  Write all multiples of 9 up to 100.         2 
17.  Calculate the ratio of 30 minutes to 1.5 hours.       2 
18.  Write 25.37 in words.          2 
19.  How many whole number lies in between 32 and 53?      2 
20.  The hour hand of a clock when turn from digit 3 to 9, then what fraction of a  

complete clockwise revolution it does?        2 
21.  Write in numerals:           2 

Fifty eight million four hundred and five thousand two hundred ten     
22.  If total numbers of animals in five villages are as follows     2 

Village A B C D E 

Animals 80 70 45 100 160 
Then answer the following 
a. Which village has maximum number of animals? 
b. How many animals are less in village B than village E? 

23.  Draw lines of symmetry of a rectangle.        2 
24.  Write in ascending order          2 

 

 
 , 
 

 
 and 

 

 
 

25.  Simplify, 285 X 5 X 60.          2 
26.  Find the difference between the greatest and the smallest number that can be  

written using digits 5, 3, 7, 8 and 4.        3 
27.  Draw a bar graph of the following data:         3 

Name of Fruit Banana Orange Mango Apple 
Number of Students 8 3 5 4 

28.  Find the value of X in the given equation:           3 

 X- 6 = 11         
29.  Write the name of different triangles on the basis of angles and sides.   3 
30.  Determine the smallest three digit number which is exactly divisible by 6, 8 and 12. 3  
31.  Cost of four dozen bananas is Rs. 60.  How many bananas can be purchased for Rs. 12.50.? 3 
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32.  Write the integer A, B and C on number line.       3 

     
33.  Ram’s present age is Y years. His father’s age is 2 years more than five times Ram’s age. 3 

Find 
a. Ram’s age five years back. 
b. Ram’s age after 7 years. 
c. His father’s present age.   

34.  Draw angle bisector of ∠ABC = 60°?        3 
35.  Rahul bought a book for Rs. 35.65. He gave Rs. 50 to the shopkeeper. How much money did 

he get back from the shopkeeper?         3 
36.  Identify the following from figure:     5 

a. The center of circle 
b. A diameter 
c. A cord 
d. A sector 
e. A point in the exterior    

 

37. Match the equivalent fractions     5 

i)   
  

  
     a.  

 

 
 

ii)  
  

  
     b.  

 

 
 

iii) 
  

  
     c.  

 

 
 

iv) 
  

  
     d.  

 

 
  

v)  
  

  
                                   e. 

 

  
 

38. What is the cost of filing a rectangular plot of land 500 m long and 200 m wide at the rate of 
Rs. 8 per hundred sq. m.?          5 
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okf"kZd vkdyu & ekpZ 2017 

d{kk& 6 

fo"k; & xf.kr 

&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 

  vf/kdre vad % 80             le; % 150 feuV 

&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&&& 

funsZ'k % 

 lHkh Á'u vfuok;Z gSaA  

 Á'u¨a d¢ vad muds lkeus n'kkZ, x, gaSA 

 

1- fuEu esa ls lcls NksVh la[;k gSA           1  

¼d½ ¼1$2½  ¼[k½  ¼1&2½   ¼x½ ¼&1&2½  ¼?k½ ¼2&1½   

2- cUn vk—fr }kjk ?ksjs x, ry ds ifj.kke dks mldk --------------------- dgrs gSaA     1  

¼d½ yEckbZ  ¼[k½ vk;ru   ¼x½ ifj.kke    ¼?k½ {ks=Qy   

3- ,d js[kk[kaM dk yac lef}Hkktd mldks fdrus cjkcj Hkkxksa esa ck¡Vrk gSA      1  

¼d½ 4   ¼[k½ 3    ¼x½ 2    ¼?k½ 1 

4- fuEu esa U;wu dks.k gSaA            1  

¼d½ 110  ¼[k½ 180     ¼x½ 90   ¼?k½ 60 

5- Nk;k¡fdr Hkkx dks fu:ifr djus okyh fHkUu gSA         1 

         

¼d½ 
 

 
    ¼[k½ 

 

 
     ¼x½ 

 

 
   ¼?k½ 1@2  

6. nh xbZ vk—fr dk ifjeki gSA           1 

            

¼d½ 14 cm
3
  ¼[k½ 14 cm

2
   ¼x½ 14 cm

 
 ¼?k½ 14 cm

5
 

7- fuEu esa dkSu lehdj.k gSA             1  

¼d½ x+20=70  ¼[k½ x+20<70   ¼x½  x+20>70 ¼?k½ 
 

  
 < 70 
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8- lcls NksVh izk—r la[;k gSA            1  

¼d½ 0   ¼[k½ &1   ¼x½ 1     ¼?k½ 2   

9- 5 vkSj &6 dk ;ksx gSA            1  

¼d½ 1   ¼[k½ -1    ¼x½ 11    ¼?k½ -11 

10- ;fn   = 10 cPps gks rks     = ----------------- cPpsa A      1 

¼d½ 25   ¼[k½ 20     ¼x½ 30     ¼?k½ 35  

11- T;kfefr ckWDl esa fdl midj.k ds nks uqdhys Hkkx gksrs gSaA        1  

¼d½ ijdkj  ¼[k½ jcM+  ¼x½ fMokbMj   ¼?k½ isfUly 

12- ,d yk[k esa fdrus nl gtkj gksrs gSaA          1  

¼d½ 1   ¼[k½ 10   ¼x½ 100   ¼?k½ 5 

13- 0-375 esa n’kka’kk dk vad gSA           1 

¼d½ 0   ¼[k½ 3   ¼x½ 7    ¼?k½ 5 

14- y esa 5 tksM+us ij izkIr gksxkA            1  

¼d½ 5y  ¼[k½ y
5
   ¼x½ y+5    ¼?k½ y-5 

15- 5% 10 % %   40 es        dk eku gSaA         1  

¼d½ 5   ¼[k½ 10     ¼x½ 15    ¼?k½ 20 

16- 9 ds xq.kt Kkr djks tks 100 ls de gksaA         2 

17- 30 feuV dk 1-5 ?kaVs ls vuqikr Kkr djksA                2 

18- 25-37 dks ‘kCnksa esa fy[kksA           2 

19- 32 vkSj 53 ds chp esa fdruh iw.kZ la[;k,a gSa\         2 

20- 3 ls 9 rd igqapus esa ?kM+h dh ?kaVs okyh lqbZ ,d ?kw.kZu ds fdruh fHkUu ?kwe tk,xh\    2 

21- vV~Bkou fefy;u pkj lkS ikap gtkj nks lkS nl dks vadksa esa fy[kksA      2 

22- ikap xkao esa i'kqvksa dh la[;k bl izdkj gS r¨&         2 

xkao&, xkao&ch  xkao&lh xkao&Mh xkao&b 

  80    70 45  100  160 

fuEu iz’uksa ds mÙkj nhft,& 

d- fdl xkao esa i’kqvksa dh la[;k lcls de gS\ 

[k- xkao&ch esa xkao&b ls fdrus i’kq de gSa\ 

23- ,d vk;r esa lefer js[kk,a n’kkZ,aA          2 

24- 
 

 
 ] 
 

 
 ] 
 

 
  dks vkjksgh Øe esa fy[kksA          2 

25- 285   5   60 dks ljy dhft,A          2 
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26- 5] 3] 7] 8 o 4 esa ls izR;sd dk dsoy ,d ckj iz;ksx djrs gq, cukbZ tk ldus okyh ikap vadksa dh lcls cM+h o 

lcls NksVh la[;k dk varj Kkr dhft,A          3 

27- fuEufyf[kr ds fy, naM vkys[k cukb,&          3 

Qy dk uke  dsyk larjk vke lsc 

fo|kfFkZ;ksa dh la[;k 8 3 5 4 
 

28- x – 6 =11 esa x dk eku Kkr dhft,A         3 

29- dks.kksa o Hkqtkvksa ds vk/kkj ij f=Hkqtksa ds izdkj uke fyf[k,A       3 

30- 6] 8 o 12 ls foHkkT; rhu vadksa dh lcls NksVh la[;k Kkr dhft,A      3 

31- 4 ntZu dsys dk ewY; 60 #i;s gSA 12-50 #i;s esa fdrus dsys [kjhns tk ldsaxs\     3 

32- fuEu la[;k js[kk ij ,] ch] o lh ds iw.kkZad fyf[k,A        3 

  

33- jke dh orZeku vk;q y o”kZ gSA jke ds firk th dh vk;q jke dh vk;q ds ikap xqus ls nks o”kZ vf/kd gSA fuEu dks jke 

dh orZeku vk;q ds inksa esa crkb,&          3 

¼d½ 5 o”kZ igys jke dh vk;qA   

¼[k½ 7 o”kZ ckn jke dh vk;qA   

¼x½ jke ds firk th dh vk;qA 

34- ∠ABC   60  cukdj mldk lef}Hkktd [khafp,A        3 

35- jkgqy ,d iqLrd 35-65 #i;s dh [kjhnrk gSA mlus nqdkunkj dks 50 #i;s fn,A nqdkunkj us mls fdrus #i;s 

okfil fn,A             3 

36- layXu vk—fr ns[k dj crk,sa      5

          

d- o`r dk dsUnz 

[k- ,d O;kl  

x- ,d thok  

?k- ,d f=T;k [kaM 

M- cfg ekxZ esa ,d fcUnq 
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37- rqY; fHkUuksa dk feyku dhft,A           5 

i. 
  

  
     d- 

 

 
 

 

ii. 
  

  
     [k- 

 

 
 

 

iii. 
  

  
     x- 

 

 
 

 
 

iv. 
  

  
     ?k- 

 

 
  

 

v. 
  

  
                                 M- 

 

  
 

38- 500 eh0 yackbZ rFkk 200 eh0 pkSM+kbZ okys ,d vk;rkdkj Hkw[kaM ij 8 #0 izfr 100 oxZ ehVj dh nj ls Vkby yxkus 

dk O;; Kkr dhft,A            5 
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